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Note that the source code for the figs can be seen by clicking the pic. You will need
to use your Browser’s BACK button to return to this page.
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Figure 1: Common transmission lines
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Figure 2: The infinite, uniform transmission line
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Figure 3: The infinite, uniform transmission line, EM perspective
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Figure 4: Magnetic Flux Density at a point r from a current carrying wire
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Figure 5: Two Conductors & Flux Linkage Λ
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Figure 6: The Lumpy, or lumped model of the infinite transmission line
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Figure 7: The Lumpy, or lumped model of the infinite transmission line, Lossless
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Figure 8: The voltage developed along an elemental distance dx of an infinitely long tr line.

|V |

x

e−αx

Travel

|V |

x

eαx

Travel

wave

Figure 9: wave
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Figure 10: atten
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Figure 11: A terminated, uniform two-wire transmission line
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Figure 12: Uniform, Terminated Line
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Figure 13: Open Circuited transmission line
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Figure 14: Short Circuited transmission line
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Figure 15: Transmission line example
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Figure 16: A half wavelength long transmission line
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Figure 17: Load Impedance matched to the characteristic impedance
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Figure 18: A quarter wavelength long transmission line
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Figure 19: Design of a matching section

ZL = 113 ΩZ0; jβ50 Ω; jβ

50 Ω

5 MHz

λ/4100 m match

Figure 20: match
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Figure 21: stand
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Figure 22: VoltTr

5


